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e Multiple Choice Questions.
1. Which is not the 'effect of accident on worker'?
a) Production stoppage
b) Injury to body
c) Loss of job
d) Financial loss

2. If affected worker is recovered within 10 hours, then which type of accident is it?
a) Minor

b) Major

c) Reportable

d) Fatal

3. What happens in fatal accident?
a) Hospitalisation

b) Disablement

c) Fractures

d) Death

4. Who can be responsible for accident?
a) Worker

b) Working conditions

c) Management

d) All of the above

5. Who is responsible for "unguarded moving parts"?
a) Workers

b) Government

c) Management

d) None

6. Which is not included in the 'causes of accidents' due to nature?
a) Floods

b) Heavy rains

c) Gas leakage

d) Temperature Strokes

7. Work permit is done at.....
a) High voltage work

b) Electrical trouble shooting
c) Pressure testing

d) All the above



8. Who gets affected directly or indirectly due to accidents?
a) Worker

b) Family of worker

c) Industry

d) All

9. Accident is......
a) Unfortunate

b) Sudden

c) Mishappening
d) All the above

10. Which is not included in the cause of accident due to worker?
a) Lack of concentration

b) Mischievous behaviour

c) Poor house keeping

d) Over confidence

11. Which is not included in the cause of accident due to management?
a) Bad habits of worker

b) Bad construction of plant

¢) Untrained workers

d) Faulty equipments

12: Injury after accident disables affected worker forever is...... accident
a) Major

b) None

c) Fatal

d) Permanent

13. Internal accident means.........

a) Accident in the premises of company
b) Injury without showing external signs
c) Both

d) None

14. Which preventive measure industry should take to avoid accidents?
a) Safety provisions

b) Safety devices

c) Training for safe working

d) All the above

15. Examples of fire hazards are .........
a) Smoking

b) Faculty electrical equipment

c) Overloading power sockets

d) All the above

16. Faulty electrical equipment may cause ...
a) Fire hazards



b) Loss of property
¢) Industrial accidents
d) All the above

17. Firedrillis........

a) Drilling in fire

b) Demo of fire evacuation training
¢) Fire near drill

d) None of the above

18. Safety management does not ensure.......
a) Safe workplace

b) Time management

c) Standardization of operation

d) Investigation of accidents

19. Safety management software does not share data among...........

a) Medical staff

b) Safety professionals
c) Customer

d) Supervisors

20. Indian factory act is passed in .........
a) 1935
b) 1947
c) 1948
d) 1976

21. Major amendments done in factory actin .........
a) 1948
b) 1952
c) 1976
d) 1991

22. One canteen should be provided at least per ........

a) 100
b) 150
c) 200
d) 250

23. Day as per factory act is......
a) 6:00am to 6:00pm
b) Period of 12 hours
c) Period between two midnights.
d) None of the above

24. Week as per Factory Act is period between two...

a) Mondays
b) Sundays
¢) Thursdays

workers in factory.



d) Saturdays

25. Factory using power as per Factory Act is a premise of minimum.......
a) 10 workers
b) 20 workers
c¢) 30 workers
d) 40 workers.

26. A Labour Welfare Officer is appointed in the factory as per Factory Act when there are
minimum........

a) 300

b) 1000

c) 100

d) 500

27. Rights of Labour Welfare Officer are given to......
a) Factory head

b) State Government

¢) Industry minister

d) None

28. As per Factory Act painting should be done.......
a) Once a year

b) Once in 3 years

c) Twice a year

d) Once in five year

29. Which is not included in "Wage" under Minimum Wages Act?
a) Travelling allowance

b) Gratuity

c) PF

d) All

Ans: All the above

30. As per Factory Act, one box of First Aid is provided for ........ workers.
a) 100
b) 150
c) 200
d) 250

31. Child is a person of the age..........
a) Less than 10 years

b) Less than 8 years

c) Less than 15 year

d) None of the above

32. Calendar year as per Factory Actis ..........
a) 1" April to 30" March

b) 1" July to 30 June

¢) 1% January to 31% December



d) None

33. Workman's Compensation Act is passed in.........
a) 1924
b) 1950
c) 1948
d) 1934

34. Who is incorrect person in the definition of Dependent?
a) Wife

b) Minor son

¢) Widow mother

d) Friend

35. Minimum wages act is passed in .......
a) 1924
b) 1948
c) 1935
d) 1952

36. Drinking water must be away from latrine by ......... metres.
a) 3

b) 9

c)6

d) 12

37. "Advisory Board" concerned with ‘'Minimum Wages Act' is appointed by ..............
a) Factory head

b) Appropriate Government

c) MIDC

d) None

38. Minimum wages which are fixed are declared by Government through.....
a) Newspaper

b) Official gazette

c) Magazine

d) None

39. In charge of Creches must be..........
a) Man

b) Woman

c) Child

d) Any

40. When Industrial Dispute Act was introduced?
a) 1949
b) 1977
c) 1950
d) 1947



41. What is meant by understanding team?
a) Speciality of team

b) Number of team members

¢) Requirements of team

d) All

42. Good supervisor is not the following.
a) Counsellor

b) Advisor

c¢) Mentor

d) Teacher

43. Following is not the quality of supervisor as counsellor.
a) Emotional

b) Stable

c) Motivator

d) Listener

44. Out of following which is not the qualitative standard?
a) Relations

b) Goodwill

c) Motivation

d) Time

45. Funds flow analysis is................
a) Past control

b) Future control

¢) Clan control

d) Old control

46. Financial and accounting based control is ............
a) Future

b) Old

c) Market

d) Clan

47. Face to face suggestions are ............
a) More effective

b) Less effective

c) Not necessary

d) Avoided

48. “Do What I say or Otherwise” iS ................... instruction.
a) Force

b) Paternalism

c) Bargain

d) Harmony

49. “Youdo AsIsay”is ..........cc....n. instruction.
a) Force



b) Paternalism
c) Bargain
d) Harmony

50. Directionisa .................... function.
a) Production

b) Managerial

¢) Both (a) and (b)

d) None of the above



